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NB. AQV Model, One Way Layout

NB. generate normal random varibles from 12 uniform random numbers
Rndm=:3 : ’_5.999+(+/"17(y.,12)$100000)%100000’
NB. quadratic response function
fn1=:11.25 _5 1&p. NB.(x-2.5)"2+5==>x"2-5x+11.25
NB. generate four points of interval y. for center 2.5
point=:3 : ’2.5+(_1.5 _0.5 0.5 1.5)*y.’
NB. generate data of 4 levels by repetitions x.
Fnil=:4 : 0O
(Rndm $z)+z=.x.#,:fnl y.
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O00000A:2=10Ay:2=20A3:2=30A,:2=4000000n=>5

DATA1=.5 Fnl point 1

DATA1
7.5652 5.38525 6.38359 7.15142 7.64221
6.73035 5.67498 3.32611 5.53201 4.03091
3.90604 6.39043 5.73018 4.26129 4.59514
8.04837 8.13776 6.28239 4.88261  7.902

(1 2%$°A ’)A0V D1

Source d.f. S.5. mean sq. FO

A 3 18.58203 6.19401 4.19769
Error 16 23.60920 1.47558

Total 19 42.19124
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DATA2=.5 Fnl point 0.7

DATA2
5.48515 6.75324 6.52646 8.53527 6.89115
6.38637 4.65813 4.62184 4.3171 6.63495
5.75182 4.58099 4.71279 5.74309 5.60617
6.79873 8.09027 6.90589 5.82505 4.83035

(1 2$’A ’)AQV DATA2

Source d.f S.5. mean sq. FO

A 3 9.59464 3.19821 3.01097
Error 16 16.99500 1.06219

Total 19 26.58964
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DATA3=.10 Fnl point 0.7
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5.48515 6.38637 5.75182 6.79873
6.75324 4.65813 4.58099 8.09027
6.52646 4.62184 4.71279 6.90589
8.53527 4.3171 5.74309 5.82505
6.89115 6.63495 5.60617 4.83035
6.58019 5.83067 5.11892 7.15034
6.22389 4.27484 5.19373 3.32011
6.09753 4.90435 6.10052 9.54786
8.1165 5.05414 3.09461 5.15649
8.05117 3.93814 4.71554 5.77138
(1 28°A ’)AQV D1
Source d.f S.5. mean sq. FO
A 3 26.39713 8.79904 6.20075
Error 36 51.08505 1.41903
Total 39 77.48218
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NB. Appendix Analysis-of-variance calculations by Smillie



NB. Revised by J.Takeuchi 2004/10/22
T=: 3 : 0

+/70(+/-.x)(/:x) |y
)
tt=: ,e{e(Je#&(<0 1))
S=: (+/@((x:@,)@T)) % (x/e(-.e[ # $e]))
alls=: (>ette#e$) s"1 _ ]
stt=: <"1@]."1@(/: +/"1)e(>0tt)
alphabet=: ’ABCDEF’
tag=: 1#({.&alphabet)@#Q]
numtag=: (({.&alphabet)@(#@$e])) e. [
alltags=: (tag &. >)@(1&}.)@stt
expand=: /:@\:@[{#0[{.]
ps=: <"1lQ@expand"l >@stt@(+/)
ss=: | @ (-/) @ (>@ps@([numtag]) (+/"1@[ +//. S"1
df=: ([:*/<:)@(numtag # $€])
term=: ss (J , [, %) df
allterms=: (>Q@[) term"1 _ ]
AQV=: 3 : O
sO=: (alltags #3y.) AOV y.

Tyt=:,:’Source d.f. S.S. mean sq.
AOVtable=.x. allterms y.

Labels=.8{."1 >x.

dfTotal=.<:%/8y.

ssTotal=. (+/*:,y.) - ’’’’ ss y.
dfError=.dfTotal - +/0{"1 AQVtable

if. dfError>0 do.

ssError=.ssTotal - +/1{"1 AOVtable
AOVtable=.AOVtable,ssError(], [,%)dfError
Labels=.Labels, ’Error’

end.

AOVtable=.AQVtable, . ({:"1 AOVtable)¥%ssErrordfError
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.Labels,"1 (5 12.5 12.5 12.5)":A0Vtable
C(2# ) (<_112{.1i:12) 3
AQOVtable=.A0Vtable,TotalRow=.dfTotal,ssTotal

r

r=.(r,’-’),’Total 5 12.5":TotalRow
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